
$WROH�GH�0DQ]DQD�GH�=DFDWOiQ�GH�ODV�0DQ]DQDV��3XHEOD��0H[LFR�

3UHSDUDWLRQ�����PLQXWHV�

�� :DVK�WKH�DSSOH�DQG�FDUURWV�
�� ,Q�D�SRW��ERLO�WKH�DSSOH�DQG�FDUURWV�XQWLO�

WKH\�DUH�VRIW�
�� $GG�WKH�DSSOH�DQG�FDUURWV�WR�WKH�

EOHQGHU�
�� $GG�WKH�PLON�DQG�/HFKHUD
�� %OHQG
�� $V�LW�LV�EOHQGLQJ��VORZO\�DGG�WKH�ULFH�

IORXU
�� %RLO�
�� 6HUYH�KRW�ZLWK�D�OLWWOH�ELW�RI�JURXQG�

FLQQDPRQ�RQ�WRS

,QJUHGLHQWV�IRU���FXSV

Ɣ ��DSSOH
Ɣ ��FDUURWV
Ɣ ��FDQ�RI�FRQGHQVHG�PLON
Ɣ ��FXSV�RI�����PLON
Ɣ ��ò�WDEOHVSRRQV�RI�ULFH�IORXU

1XWULWLRQ�)DFW��$SSOHV�DQG�&DUURWV�KDYH�
HVVHQWLDO�YLWDPLQV�IRU�H\H�KHDOWK

&XOWXUDO�)DFW��$SSOHV�DUH�QRW�RULJLQDOO\�IURP�
WKH�$PHULFDV��=DFDWODQ�GH�ODV�0DQ]DQDV�LV�
WKH�ILUVW�NQRZQ�DSSOH�RUFKDUGV�LQ�WKH�
$PHULFDV�


